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OREAAAME U2E NAH S
4, 200350 12& 2,520
UBHAMNS(IS) 1,314,881 1,015,862 299,019
= 164,884
Al 864,127
- 285,870
DeEYaRe = XI# 12,000 10,000 2,000
= 6,000
Al 3,000
- 3,000
307 212+01 A 12,000 10,000 2,000
= 6,000
Al 3,000
- 3,000
01 =242 =l 12,000 10,000 2,000
ODFYMER oRY| X
12,000,000 12,000
= 6,000
Al 3,000
- 3,000
FAEME XS4 oJ=H| K& 7,200 4,800 2,400
= 3,600
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- 1,800
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- 7,800
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Al 7,800
- 7,800
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Al 1,300
T 1,300
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101 @124H| 24,000 0 24,000
Al 12,000
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01 22X+ &H| 20,000 22,000 /2,000
Ogul =ot=& N 20,000,000& 20,000
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= 3,050
Al 1,525
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= 3,050
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01 222 FZH] 6,100 16,000 29,900
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= 3,050
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SHEHUAMOISZBA & &ot2e] K& 14,500 14,000 500
= 7,250
Al 3,625
- 3,625
307 21201 & 14,500 14,000 500
= 7,250
Al 3,625
- 3,625
01 22X &Hl 14,500 14,000 500
ONBSTHAIOI &AL 2 BOFRI2IH]
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= 7,250
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- 3,625
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= 1,718
Al 859
- 859
307 2I2+01A 3,436 4,400 2964
= 1,718
Al 859
- 859
01 =¥ 7=H| 3,436 4,400 2964
OHdd UHEAAN & BEI| X3
3,436,000& 3,436
= 1,718
Al 859
- 859
2IISHXEAMBIA(IE) 75,800 77,744 A1,944
= 37,900
Al 18,950
- 18,950
KGASI SASHAMEIA(IS) 75,800 77,744 A1,944
= 37,900
Al 18,950
- 18,950
101 2124t 30,642 26,626 4,016
= 15,321
Al 7,661
- 7,660
M I1RIZ2Z2XsE+ 30,642 26,626 4,016
OJIZtMl 22X 30,642
—3aHAIY o1 1|
2,340,923 x1H + 132 30,432
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Al 13
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= 3,757
Al 1,878
- 1,879
01 At22telt] 4,364 10,324 25,960
Oget=ZH| 4,364
—= %A 22l 3,724,000 3,724
= 1,862
Al 931
= 931
= = ETE]
50,0002 x4 +23] 400
= 200
Al 100
- 100
—SHAMY 218 W=HI
240,000& 1 240
= 120
Al 60
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02 S3=gl 150 150 0
OsaNcE lE2s8=
50,0002 +3% 150
= 75
Al 37
- 3B
03 A= I 3,000 3,000 0
OScaAY giAz2d 3,000,000& %12 3,000
= 1,500
Al 750
- 750
301 LeEN= 12,400 12,400 0
= 6,200
Al 3,100
- 3,100
11 HAIMHIXIZE S 400 400 0
O3¢Z2d 28(ZA nsSHl §)
40,0002 *12 %102 400
= 200
Al 100
T 100
4Bt 2 a3 12,000 12,000 0
O3NcH BE4Y
40,0002 *32H =100 12,000
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- 3,000
307 212+01& 25,244 25,244 0
= 12,622
Al 6,311
- 6,311
01 22 +=H] 25,244 25,244 0
O=HEXM 7 12,244,000 12,244
= 6.122
Al 3,061
= 3,061
OBUHS(43)25 7Y
13,000,000& 13,000
= 6,500
Al 3,250
- 3,250
KSAel SHEXRAAMBIA 1,500 1,500 0
=9 28 A& AHIA 1,500 1,500 0
201 2= 1,500 1,500 0
2 S524g4l 1,500 1,500 0
Oxtgrdet] 1,500,000 «1CH 1,500
AR 2RI M E R AN S (S B) 84,629 84,170 459
= 42,314
Al 21,157
- 21,158
gEAL2A2(FE) 84,629 84,170 459
= 42,314
Al 21,157
- 21,158
101 ©1AH| 80,889 78,725 2,164
= 40,444
Al 20,222
- 20,223
03 SRA(RIH )22 U2+ 27,560 26,751 809
OsR&22Xk 27,560
—Jl23(23H)
2,116,640~ 1H« 122 25,400
= 12,700
Al 6,350
- 6,350
—a=4tl 140,000& x 1= 123 1,680
= 840
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M oE B8 FOALEI NHIA W2
Sl ARIZRIM L HIHOHE (S S) (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 420
T 420
—IIEsd 40,0002 1 =123 480
= 240
Al 120
- 120
MU ORINZENSES 53,329 51,974 1,35
Og2dd2e/Atg 218 el 53,329
—gRALZCIAY 1 o1Y|
2,051,080 2E* 132 53,329
= 26,664
Al 13,332
- 13,333
307 @120l & 3,740 5,445 1,705
= 1,870
Al 935
- 935
01 22X +&H| 3,740 5,445 1,705
OYSATBIANL AT L A2F g
3,740,000 3,740
= 1,870
Al 935
- 935
YA 2l MHIA(SE) 41,853 43,684 21,831
L2EAMY 2E(EE) 41,853 43,684 1,831
101 21A4H| 18,476 18,147 329
03 SR (RIH )22+ 12,245 11,763 482
OsRA22Xk 12,245
—3d=2= 740,820 x1H*2E 1,482
—d2gtta 50,0002 x1& 123 600
—SEFHI 1,269,980 1823 2,540
—AN222RE
11,0363 *1.5+30Al 2t 1E 128 5,960
—otE A
11,0363 *BAI 2t 1E %10 883
—Had2R*E 65,0002 x 1~ 122 780
04 JIZtNZ2 2N S+ 6,231 6,384 A153
OJIZtN22 Xkt 6,231
—ZE3JHI 1,122,640 «2& +2E 4,491
— ¢ x=g 76,9803 x2& 10 1,540
— =yl 50,0002 x2H+23] 200
201 fer23| 7,897 8,777 A880
01 AtR2t2|HI 1,877 1,877 0
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OgEAL2eIAIY 2| 1,877
— A AN S22 & 23]
500,000 500
—UE2H4 29| 100,000 «12& 1,200
—LEEANY 152 Sd=
6,400~ 101 =122 w7
—II=H(S2A) 50,0008 x1H 23] 100
02 S3=gl 4,020 3,300 720
Os&k= € MA 2,520
—Y2AL2ACIAMNEE 01SHAR=S
40,0002 *3CH* 122 1,440
—S2AL NS E HEXCRS
30,0002 #3CH =12 1,080
OXtgrd el 1,500
— 2SS 1,500,000& 1,500
03 A2 I 2,000 3,600 A1,600
OMItZetisS nd 23y
250,000& *82 2,000
301 EtE N = 480 500 A0
11 dALEBIXIZE S 480 500 A0
Oog=2adcAg 2g
60,0002 +82] 480
307 @120l & 15,000 15,000
01 22 +=H| 15,000 15,000
OYEdZ MG 43 & AZE 42
=l 15,000,000 15,000
XIOH22IHAH R=(SE) 274,520 333,250 A58,730
= 219,616
Al 27,452
- 27,452
XIDHOtAMIE 2S(FE) 274,520 333,250 A58,730
= 219,616
Al 27,452
- 27,452
101 21AH| 148,651 145,250 3,401
= 118,920
Al 14,866
- 14,865
02 JIEtAE = 148,651 145,250 3,401
OXIOH & MliE] o1 21| 148,651
—Jl2=s 2,152,580 «4F 128 103,324
= 82,660
Al 10,332
- 10,332




2A:

S AIE2 Dt

M oE 28 FUALEI HHIA W2
ool XIDHRRIAH PE(EE) (B9 &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2

—&HS 247 8703 x4H+12& 11,898

= 9,516

Al 1,191

- 1,191

e 120,000 x4H 122 5,760

= 4,608

Al 576

- 576

—ZMZAlY| 140,000& x4H x 122 6,720

= 5,376

Al 672

- 672

—AZ2He|=E

9, 160 *20 Al 2H+4H + 123 8,794

= 7,036

Al 879

- 879

— I &M 7,4042 *35 A 2H4Y 1,037

= 830

Al 104

- 103

—SA2LY 79,1073 x4B+12& 3,798

= 3,038

Al 380

- 380

—CHRI g =S| 43,7503 *4B x12E 2,100

= 1,680

Al 210

- 210

—Hla2R4Y 65,0002 *4%* 122 3,120

= 2,49

Al 312

- 312

—o gy 43,7503 x4F 123 2,100

= 1,680

Al 210

- 210
201 L2 AY| 67,067 A, 700 AN27,633

= 53,654

Al 6,706

- 6,707
01 AR2teld| 36,267 45,560 29,293

Odle 29 2et=ZH| 10,467,000 10,467




2A:

X ZH -
o=

S AIE2 Dt

g5 - B FUAHLSE AHIA MBS

Sel: XIH2dMH FH(LE) (CH9: &S1)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
= 8,374
Al 1,046
- 1,047
O2IZ3 £ HE Pl
1,000, 000& *33| 3,000
= 2,400
Al 300
= 300
OXINQHAHE (ZZ) T2 2% U Al
]l 7,000,000& 7,000
= 5,600
Al 700
- 700
OXINEH B (E9E) 29|
6,000,000& 6,000
= 4,800
Al 600
- 600
OXIoerAlDIE 29| 4,000,000 4,000
= 3,200
Al 400
- 400
OXIHIAIUE (YF) 28]
2,000,000& 2,000
= 1,600
Al 200
- 200
OXIOHRHAIMIE (F )01 TI=H]
50,000& *4H *x23| 400
= 320
Al 40
- 40
OXIOHeHAIMIE] XIEF BIEH]|
680,000 * 1 CH*5E 3,400
= 2,720
Al 340
- 340
02 S324H| 4,800 9,960 N5,160
OXIOHRHAIMIE] XtEF S XIH|
150,000& x 128 1,800
= 1,440
Al 180
- 180
OXIOH&el bl A K AIH] 3,000,000& 3,000
= 2,400




2A:

X XH -
o=

S AIE2 Dt

g5 - B FUAHLSE AHIA MBS

SR XIOHZ2IXH 2=(ES) (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 300
T 300
03 A=Y 26,000 39,180 213,180
OXIOfetadE =28 23
70,0008 %2002 14,000
= 11,200
Al 1,400
- 1,400
OXH==2t YAL S 5,000,000& 5,000
= 4,000
Al 500
= 500
OIS L 25X N #AF S
3,000,000 3,000
= 2,400
Al 300
- 300
OXlifeteiirs 29 4,000,000 4,000
= 3,200
Al 400
- 400
202 0o4dl 3,360 3,360 0
= 2,688
Al 336
- 336
01 =LHAHI 3,360 3,360 0
OXIBHAH A MBI SAIA 2 H I
10,0002 +73| x4 &« 123 3,360
= 2,688
Al 336
T 336
204 AR AH| 6,510 6,090 420
= 5,208
Al 651
T 651
02 Ma2xH] 6,510 6,090 420
OAIIEERIZIIH HSE 2]
155,000 x35/40+4 8« 123 6,510
= 5,208
Al 651
- 651
301 EtE N = 13,532 18,150 N4,618
= 10,826
Al 1,353




2A:

E M

=M AI22 1D

t
OE .22 FOIHAUSK MHIA HZ2

e IIDHEFE‘TEMIT$§ED%§) (SH &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
- 1,353
11 EAAHIXIRES 1,300 1,000 300
OXIHAHE T2 S 2
1,300,000& 1,300
= 1,040
Al 130
- 130
14 JIEt2a3 12,232 17,180 A4,918
&g 343,000 «1H*245= 8,232
= 6.586
Al 823
- 823
OXlHSE2eIMg 22
4,000,000 4,000
= 3,200
Al 400
2 400
307 21201 & 35,400 65,700 /30,300
= 28,320
Al 3,540
- 3,540
01 2= +=H]| 35,400 65,700 230,300
O2E2A2Z| 4,000,000& 4,000
= 3,200
Al 400
- 400
OStsEAtel2te] Hai 2S7]
7,2503 %1008~ 128 8,700
= 6,960
Al 870
- 870
OXIHek 2= FSH
12,5003 x100& « 128 15,000
= 12,000
Al 1,500
- 1,500
OXINEI B EALS 110,000& +70& 7,700
= 6,160
Al 770
- 770
KSAt2 S E A 34,072 33,990 82
= 17,036
Al 8,518
- 8,518
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A SHEAI224 0

HH: AE - BR FOHNLSX MHIA HMB
Eelr XSASSATHE ALY (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
DOHQIA LR A HLTIH AL 34,072 33,990 8
= 17,036
Al 8,518
T 8,518
101 1244 34,072 33,990 &
= 17,036
Al 8,518
2 8,518
04 IIRIH2ZRSE4 34,072 33,990 8
OXIIALSI SATHEAL QI214|
2,620,923+ 12132 34,072
= 17,036
Al 8,518
- 8,518
AUSTAIY R BHXIA(SS) 24,450 17,432 7,018
AALAL R AR XIR(IE 24,450 17,432 7,018
101 Q1244 22,500 15,482 7,018
04 DM 22 XS24 22,500 15,482 7,018
OZHINY JIZHDRT} AHSSD ASR
2 22,500
—AY2E 200,000, 00021 #4% 8,000
—=2pieiz 200,000, 00021 %4, 5% 9,000
— DA 200,000, 000242, 75% 5,500
201 g2 1,000 1,000
02 T2 1,000 1,000
OASZHIRAI| 1,000,0002 1,000
203 PR EA| 950 950
03 Al ZEZIY DAY 950 950
OAUAY H2 =X 1,000, 00024 %95% 950
22N A U BANRA 2Y 512,569 420,655 91,914
2XA 29 UL AM &5 342,671 280,359 62,312
101 21214 128,115 126,043 2,072
0 IIRIN2ZRSES 128,115 126,043 2,072
OJIZtHIDEXHEIRIAL, ZAAL, SEARS AL,
HEESA) 243 110,664
-Jl=a 1,871,080 4Z 112 82,328
—oixpag 82,3302 x4 * 10 3,204
— 34| 140,000 ¥4 * 1124 6, 160
—HEEIH 1,122,640 %424 %23 8,982
—iEay 120,002 x4 #1124 5,280
—Slgay 140,002 +3 #1124 4,620
OIEER AEE 12,451
—Ay2E 110,664, 00024 *4% 4,427

_22_




2A:

HE: 9E - 88 FOAASH HUIA HB
Rl 22X R BAAZA 2 EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
—=01H3 110,664,000 4. 5% 4,980
—1E28d 110,664,000& *1.75% 1,937
—AHHEE 110,664,000 * 1% 1,107
OCHEICIAF 21 24H]| 500,000 x 15 %10 5,000
201 L2 AH| 104,908 95,440 9,468
01 AtR2eltl 8,736 7,004 1,732
OJ|Z2gdete-2H|(8R22AHXL)
4,842,000 x95% 4,600
OZ2cIxgd 29| 100,000& «12& 1,200
O1l=tl 1,400
—JIEtR (M Z2AL, SEEAHAL, 22X
ZAH) 50,0002 x 10 23] 1,000
—SRH2Z2X 50,0003 *4H x23| 400
OULEz Sz 6,400 203« 128 1,536
02 S=29| %,172 88,436 7,736
03322 & HA(ESE2AXA) 39,160
—MIe3 2,000,000& *12& 24,000
—&ot=ER3 600,000 <12 7,200
—SADIARS3 300,000& * 123 3,600
—USFURES 1,000,000 *13| 1,000
—QgHIIE =H& 80,0002 x12& 960
—ZAtal H==Xell 200,000 =12 2,400
03322 2 HA(EREAXL) 16,450
&3 1,250,000 =123 15,000
—HIIHMEA =2
300,000& *13l 300
—USRLRES 200,000& *13 200
—8stx HAH| 200,000& *13] 200
—2gHJI8 =HE 50,0003 *12& 600
—LPG | 50,000 *32| 150
OAEEHISXB(ISSE2AH X A) 23,882
—ROIEHIAIAE X2l
236,000& =123 2,832
—&FAaze| CHE| 4,350,000& »33| 13,050
—Al& &8 O] 5,000,000 *1JH 2 5,000
—9o|2&H| Xl 3,000,000 3,000
OAIEEHISXHI(ESEAHAA) 12,180
—ROIEHIAIAE X2l
143,000& « 123 1,716
— A4 |®XlH| 7,000,000 *1JH 2 7,000
Hazte| iyl 1,232,000 *22] 2,464
—olE&H| || 1,000,000& 1,000
OXt | 4,500
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2A:

M °E 2R FUALEI HHIA W2
ol 22X4 & BAAEA 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—SesER 3,000,000 *1CH 3,000
— 858 1,500,000 «1CH 1,500
307 @120l & 15,000 15,000
NEEEEEN] 15,000 15,000
02X A HRAE U VBADE 7
15,000,000& 15,000
308 XtXIEMSO0IH 22,278 25,429 23,151
11 SIS0t 4 A A A 22,278 25,429 A3, 151
OEF2 FAk2teld 22,278,000 22,278
401 Al HIZL 2018 69,358 8,646 60,712
01 Al&H| 69,358 8,646 60,712
OEREAX A AIAY 002 £X
8,220,000& 8,220
OEFZ Sa ZHSA 51,502,000& 51,502
OFF2 2= HtS 2L3A
9,636,000& 9,636
405 AHatE = 3,012 9,801 26,789
01 MMM ESFSHI 3,012 9,801 26,789
O(ZZ)2HUIIE 7Y
1,711,600 *1CH 1,712
O(ER)A=I ¢ 1,300,000& 1,300
HeEEsd =298 7,200 3,700 3,500
201 =3 1,200 200 1,000
01 At22t2ltl 1,200 200 1,000
Ongasd 2dY| 100,000& « 12 1,200
307 elztol & 6,000 3,500 2,500
NPT 6,000 3,500 2,500
OUYEE o8 U 228 7o
6,000,000& 6,000
e 29 1,200 1,200
201 et 3| 1,200 1,200
01 AtR2te|Hl 1,200 1,200
Oz 24| 100,000 »12& 1,200
plad 2 4,400 0 4,400
201 er23 | 4,400 4,400
01 At2teltl 4,400 4,400
Ooglga 24| 200,000 122 2,400
OuRAA F0I 2,000,000& 2,000
A 29 80,292 63,140 17,152
201 ger=3| 17,292 21,516 N4,224
01 AtR2te|H] 13,932 16,632 A2,700
Oget=EH| 13,932
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